Lecture 14

Green’s functions

Typically, if we want to solve a quantum mechanical problem, we study the Schréodinger
equation

0
ihg ¥ =HY, (1)

to find the wave-function % of a quantum-mechanical system. Once we know the wave
function, we have complete information about a quantum system, to the extent possible
in quantum mechanics.

However, we almost never attempt to solve the Schrodinger equation in quantum
field theory, so the primary mathematical object we work with changes completely. To
see how it comes about, let us recall that relativistic quantum field theory appeared
as an attempt to understand quantum physics of relativistic particles. A standard way
to explore properties of relativistic particles is to collide them and study results of such
collisions. To describe this process, we imagine that at time ¢t = —oo the two particles are
far apart and head towards each other; we describe this initial state with a ket-vector |7).
At t = 400, the outcome of the collision is the final state |f). The probability amplitude
for this transition to happen is given by the matrix element

Spi = (fld)- (2)
Typically, |i) and |f) are constructed out of creation and annihilation operators,
however these operators are not quite the same. Let us imagine that at t = —oo, we

describe particles with creation operators a;;(—oo) and at ¢ = oo with a;(—koo). To
define these operators precisely, we assume that we deal with a scalar theory described
by the Lagrangian

L= 3 (0u0)? — 3m*e* V(). )
where
V(t,p) = V(p)0(To,t). (4)

The function 6(Tp, t) is constant on the interval —T < t < Ty but adiabatically vanishes
for smaller and larger values of ¢. Hence, there exists 7' > Tj such that for |¢| > T our
theory is, effectively, a free theory. We can now define the Hilbert space of the theory at
t = o0 exactly. To this end, we write

Pt >T.7) = / (27T) o ( p(o0)e™Hnt" 4 a%(—l—oo)eikum“) 7
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The initial state |i) and the final state |f) are then constructed using operators

at(—oo) and at(—i—oo), respectively. For example, consider a typical scattering process

Wﬁlere two particles with momenta py o produce n particles with momenta p3 4., i.e.

P1+p2 — p3+ps+ ...+ . (6)

We assume that p; # p;, for i # j and that p? = m? for all i’s. To describe this process,
we require a matrix element

S = (fli) = V2w1 2wa ...2wp (0ap, (00)...ap, (00) a}:l(—oo)a;?(—oo)\m. (7)

We would like to connect this matrix element to a quantity that depends on fields (¢, x)

rather than creation and annihilation operators. To do so, we consider the following

integral, for p> = m?,

I= z'/d4a: et (9% +m?) p(z) = i/d4x P (83 -+ m2> o(x). (8)
We assume that ¢(z) vanishes if |Z] — oo and integrate by parts in Eq. (8). Then
/d4:z: PG . Jp = — /d4:r e (5)2 . (9)
Hence,
I= i/d4x et (9% +m?) p(z) = i/d4a: e (07 + w2) (), (10)

where wf; =p>+m? = pg.
To proceed further, we note that the following identity is valid, if pg = wy

e (07 + wl) p(a) = —idy [eP" (10 + wy) ¢()] . (11)
To check it, we compute the right-hand side explicitly. We find
—10; [eip*‘m” (0 + wy) p(x)] = eiPn! (07 — iwy0r) o(x) + e s (10 + wp) ()
= et (97 + w%) ®.

We use Eq. (11) in Eq. (10) and find

I= i/d%(—z‘)@t [P (i0y + wy) p(x)] = /d3x e (10 + wy) p(t, z) [IZF2.
(13)
At t = +o00, p(t, Z) is written using its asymptotic form, Eq. (5). We find
lim eP (0, + wy)p(t, T)
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We use this equation in Eq. (13) and integrate over #. We find

I=1;—-1,
1 . .
I = — la+(+o00)(k ) gi(Po—Fko)zo P+ L Ea)el(Potko)To 7
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(15)
so that
I = \/2wz (ap(+00) — az(—00)) . (16)
Hence,

i/d4x Pt (9% +m?) p(x) = /2wy (az(+00) — az(—o0)) (17)

and similarly,

i / dha e (92 4 m?) () = /2wy (a;;(—koo) - a;(—oo)> . (18)

We would like to use Egs. (17,18) to construct the matrix element S¢; Eq. (7). For
example, we can use the following equation

L / dhz e P (07 4 m?) o(a) = \/2u (af (+00) = afi (—00)), (19)

T

P

(—o0) through an integral of . The problem is that upon doing that, we

will also obtain a; (4+00) in the relation between a}l

is needed in Eq. (7). A trick that is used to get rid of a;g,l(—koo) and ag, ,(—00) is to

to express a

(—o0) and ¢ and this is not what

employ properties of the vacuum state |0) since az|0) and <O|a;r7 vanish. What we need to
do is to ensure that all “unwanted” creation (annihilation) operators appear to the left
(to the right) of all other operators in Eq. (7). To accomplish this, we rewrite Eq. (7) as

S = (fli) = V2w1 2w ...2wn (0|T | ap, (00)...ap, (00) a},l(—oo)a;(—oo) 0),  (20)
where the operator T is the time-ordering operator which is defined as follows
T [Ol(tl)Og(tQ)] = (9(t1 — tQ)OlOQ + 9(t2 — tl)OgOl. (21)

The time ordering ensures that operators that depend on the largest time appear to the
left of all other operators and operators that depend on the smallest time appear to the
right of all other operators. Then, since az/0) = 0 and <O]a;r7 = 0, we can replace all the

a and al operators in the formula for S i with integrals over fields ¢ since additional

terms a}(—l—oo) and az(—o0) provide vanishing contributions because of the T-product

in Eq. (20). We find

n i i p'x'mmpzzz) n
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The object that appeared in Eq. (22), (0|T¢(z1)...¢(x,)|0), is the time-ordered Green’s
function of n scalar fields p(t1,x1), ..., (tn, Tn). We see from Eq. (22) that such Green’s
functions are used in calculations of scattering amplitudes which are important quan-
tities for understanding interactions of elementary particles. This discussion provides
some motivation to the study of Green’s functions in quantum field theory.

To get a better idea of what Green’s functions are, we will first study them in a
non-interacting theory. In such a theory, the relation between fields and creation and
annihilation operators is known exactly. The field operator reads

B3k (

o) = [ G o

aEe*"(”EFE@ + a%ei(wﬁt*’;fo . (23)

The creation and annihilation operators satisfy the following equations <O|a:{2 = 0 and
aEIO) =0.

Hence, the simplest Green’s function reads (0|p(t,Z)|0) = 0. The next-to-simplest
Green’s function is

(O] Tp(t1,71)p(te, ©2)[0). (24)

To proceed further, we use the definition of the time-ordering operator 1" and write

(O|T'p(t1, 1) p(t2, 2)|0) = O(t1—1t2){0|p(t1, Z1)p(t2, ¥2)|0)+0(ta—t1)(0|p(t2, ¥2)p(t1, 71)[0).

(25)

To compute the remaining matrix elements, we use Eq. (23) and find

2 Bk —_

(OITp(t1, Z1)ep(t2, T2)|0) = /H — {9(151 — to)e” M1tk (0]ar ol 10) + (14 2)) .
(26)

Using o

(Ola, al, 10) = (Ollag, oL, )10} = (20)°6) (B, — Fo), (27)
we easily find
3k

(O|Tp(t1, 1) p(te, T2)|0) = / Ot — to)e FT17m2) 4 (1, — tl)eik(“_“)} :

(28)
To simplify this expression, it is convenient to compute a Fourier transform of the Green’s
function. We define

(271')3(2%5)

Dp(z1 — x2) = (0[T'p(t1, 1)p(t2, £2)[0) (29)
and compute
Dr(p) = /d4xDF(x)eip“x“. (30)



To integrate over z*, we use Eq. (28) where we replace t1 — zg,ty — 0, &1 — & and
T9 — 0. The integration over & is straightforward. We obtain

Bk . .
— M = i(p—k)x _ A\ pi(ptk)z
Dr(p) / (%)32%(175 dz [G(t)e +6(—t)e }

-
— / kodt [g(t)ei(po—wg)t(;(fi) (5 — K) 4 0(—t)e'Potents®) (51 k) (31)
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where wy = 1/p? + m2. To proceed further, it is convenient to introduce a useful repre-
sentation for the #-function
400 “+o00 +oo
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We use this representation in Eq. (31), integrate over ¢ and then over ¢ and find

T 1 . 1 .
DF(p) _ / d¢ dt [_ ez(po—Wﬁ—f)t + eZ(P0+wp—§)t:|
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_ [ R 1 B (33)
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1 1 N 1 1 —2wp
C 2iwy | po—wp+i0  po+wy—i0]  2iwy [pg — (wy— i0)2]

Upon substituting wy = \/p% + m? and using the fact that wy > 0, so that (w; —i0)? ~
w% — 10, we obtain the final result for the Green’s function of the two scalar fields in
momentum space '

i
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Dr(p)

Note the appearance of +i0 in the denominator; this infinitesimal complex number ap-
pears in this way because we compute the time-ordered Green’s function. We can use
Eq. (34) to write

d*p i

—ip(ar =y, 35
(2m)4 p2 —m2+i0° (35)

OITo(2)¢(y)[0) = /

Eq. (35) shows that the +i0 term provides a definite prescription of how a would-be
singularity at p? = m? should be treated in the process of integration over p in Eq. (35).
Without such a prescription, integral Eq. (35) is poorly defined.



